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+*¢* Read all the questions before start writing the answers.
+»+» Check that this question paper contains 4 questions.
I. Choose the correct answer:- 5x1=5
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++» Read all the questions before start the answers.
++» Check that this question paper contains 4 questions.
I. Choose the correct answer:- 5x1=5
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Il. Translate ANY FIVE of the following sentences into Arabic:- 5x1=5

1. Where is Salman and Noman? 2. We are engineering college students.

3. You all are fruit-sellers. 4. These are small children.

5. No, they are standing in the field. 6. Hamid is a laborious student.

7. Those are police-women.

Ill. Translate the ANY FIVE following sentences into English :- 5x1=5
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IV. Use the following words in your Arabic sentences.
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Il. Translate ANY FIVE of the following sentences into Arabic:-

1. Are you Hamid’s friend? 2. Where are Bushra and Salma?
3. We are returning from school. 4. They are small girls.
5. They are sisters of doctor. 6. Hamid is a laborious student.

7. Those are police-man.

lll. Translate the ANY FIVE following sentences into English :-
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IV. Use the following words in your Arabic sentences.
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